Wi AT S L/ 4B
Dual Rod Cylinder/ Single Side Rod Type

TCXS Series

v
=
'_
<
=
>
wl
=
o

Common Specification ( £t [&] #{ #& )

Bore(4I1&)(mm) 26 | @10 | @15 | @20 | @25 | @32
Fluid (fi£ A i ) CleanAir(jE %= %)
Action(ZH{ERZ ) Double Acting (3 i)

Proof Press. ({RIEM & 77) 1.0Mpa

Max. Press.(BR = {EHEH) 0.7Mpa

Min. Press.(B{E{£FIE7) | 0.15Mpa | 0.1Mpa | 0.05Mpa
Amb. Temp (B B R KEE) 0~60°C

Cushion(£& ) Rubber Cushion(# i #5828 )
Formation(45#4) WS N2 15 40 7))

*Lubrication(G@i&)

Non-Lube(FREE)

Stroke Tclerance({TI2IEESE )

Return Stroke (4 [2] T #8) 0~-5mm

Stroke ({72 Sl Slide Bearing/Ball Guide Beari
f Ide bearing/ba uide bearing
. Bearing(7%) G 3 B R /% S 1 )

(EIZ) Standard Stroke(fR{T42) Eﬁgw";%ge'?(aéagw AR | £0.1°[£0.15° £1.3°[£0.11° £0.1° [+0.08°
26 10, 20, 30,40,50 T REISEREE) | ARSIk | £0.1°] £0.1°[£0.07°+0.06°+0.15+0.04°
20 10,15,20, 25,30,35,40,45,50,60,70,75 Pipe Size (% 0 ) Re M5x0.8 1/8"

215,020,025 10,15,20, 25,30,35,40,45, . — —
@32 50,60,70,75.80.90,100 %ﬁiﬁ;&?segygsnz% Oil 1st-Grade ISOVG32,If Necessary.( tnEZE;H8, i5H

TCXS M

20 - 30 - M9B S

I_, |

Bearing Type Bore Stroke *Auto Switch No. of Auto Switch
R E e 718 (A IES HaMETF R B
M _[Slide Bearing({&h%h7%) Please refer to the Please refertothe  Nil(%) | None (FLH#kIEFF %) Nil(Z=) | 2 (1)
L |Ball Guide Bearing(%3x S k) table ESETIEK  table EEEITER  MoB | Reed Switch(iiGESHMEFX) G
N e AN
*Auto Switch (B0 SIBKERTIES: TS 1n GOE) MONP | Contactiess Switch(R#mifitt #%) _n_[n ()
L=3m 273 | Reed Switch(i A1 S MEFF )
Z-5m
Max.Allowable Loads Loads of Rod Allowable Kinetic Energy
(BRARARIFHE) (FFum fa E 8) (42 1F & &E)
w S@
g= T
W E@f 50 TCXSLI32
: f
ﬁ;\ ,,,,, @ O— -6— O FTCXS0O32 \\
— | 1\
Extended Rod 20[Tcxs020 \
' \
LTCXSDO15.
T T T T 1 5 10 T AW LY
\, T——TCXSM(Slide Bearing) 015 = I AVAW
- \ TCXSL(Ball Guide Bearing) - 5 ToXSLM0 N
< A £ = LARAN
=z 2 0y ~ 0.1 el \'
= 3 > 8 2 \
9 \\ 5 / - \
g |y N B —— TCXSO6 \ \
\ @
B15[ N N 5% 1] 1 N
2 \\\ NS
.,
§ R Q\ \ 05 \
s \,‘\ \\ R 0 20 40 60 80 100 0.4 AV \
= RN >~ \]32 Stroke(mm) 03 7
oo~ ‘ 0
\\‘\ ‘\N-\\\ Housing 0.2 \
05 ac Y ~I ]25 I ______—— /Plate \
N R | |
R e ey _ e 0.05
~ ~I—L""F]15 T /@7+—‘@@ # 0 50 100 200 300 500
= S ;E-_]10 ‘ !
0 20 40__60 80 100 = — i
Cylinder stroke(mm) T ‘ Cylinder speed(mm/s)

1.140 “§TEEITE




W iE EA S L/ 48
Dual Rod Cylinder/ Single Rod Type

(%]
=
=
<<
=
=)
L
=
a

TCXS Series

Dimensions(mm)(4h 2 R <t &

a6
__Stroke 58.5+Stroke
5.5 8 45+Stroke
]3 275 13 _10+1/2Stroke 2-03.4 &7,
2-06.5; 0 FLIR3|3
I | 1 (]
K [ N
h | - —1
~ l (P 2-M3%0.5 o T 4
CEEal I - e— ¢—-
o~ N
74 U
Hls

L7 M2.5*0.45*6L M3+0.5*12.54M3*0.5
A7~ IR ET (NFAUEET) (RAIEE)
10 13+Stroke 2-1\/;:@(1.55%*4.5

I3

jin & €}Zf {! 4

225 11 2-M5*0.83%4.5
BEEO, ExEER

13  10+1/2Stroke

N
?g%_e)l S(};‘;'i‘f 10+1/2Stroke | 13+Stroke | 45+Stroke | 58.5+Stroke
TCXSO6-10 | 10 15 23 55 68.5
TCXSO6-20 | 20 20 33 65 785
TCXS[6-30 | 30 25 43 75 885
TCXS[16-40 | 40 30 53 85 98.5
TCXSO6-50 | 50 35 63 95 1085

HTETE 1141




W idE AT S L/ 48
Dual Rod Cylinder/ Single Side Rod Type

TCXS Series

PNEUMATICS

Dimensions(¥h 2 R ~F

)(mm)

@10, @15, @20, @25 @32

Stroke 7z
Y(R7sfg B ERST J_K Ss
| L z M

“the] Z
— 5 ot | T — @ — of T
O] (0]

N o
< |
ZH = o —F= ———=——
Z
E\X(B 7 8 4T) N/ 0O (5 #5T)EPP (5 f 48 3) ©
@10, @15
(L) 2) v
= P (5 D 4 v uu T i
e R e
g |
e —e— 414 g1 &%%F > G
o LR U c o
] o R uu U
] (L) (2) w
o9 +-Ht-—0-—--&-—-+
&
@

?’_{ff;)' A|B|C|D|E| F |G|H|I|J K|L M OA | 0B | OL N |oNNJO| 00
TCXSI10 | 46 | 17 | 44 | 15 | 7.5 |M4x0.7| 35 |20 | 4 | 8 | 9 | 20 | ,,o 3488 |23.4|@6.5) 3.3 |M3x0.5%5 | @6 | 5 |M4x0.7x14 5L
TCXSOI15 | 58 | 20 | 56 | 18 | 9 |M5x0.8/ 45|25| 5 [10| 9 |30 | , 2288 \343| @8 | 4.4 |M4x0.756 | @8 | 6 |M4x0.7x14.5L
TCXS[I20 | 64 | 25 | 62 | 23 |11.5|M5x0.8/ 50 | 28 | 6 |12 |12 | 30 | ,,20o%8h |@5.5|@9.5) 5.3 | M4x0.756 | @10 | 8 |Méx1.0x18.5L
TCXS[I25 | 80 | 30 | 78 | 28 | 14 |M6x1.0| 60 |35 | 6 |12 |12 | 12 | , 22088 36,9 @11) 6.3 M5x0.8R7.5| @12 |10 |M6x1.0x18.5L
TCXS[132 | 98 | 38 | 96 | 36 | 18 |M6x1.0| 75| 44 | 8 | 16 | 14 | 30 | , 220084 1236.9| @11| 6.3 |M5x0.85%7.5/ @16 |13 | Mx1.25x23L

Model

@e) P PP Q |QQ| R |RR| T |TT| U uu \ w X Y

TCXS[110 |33.6| M4x0.7 |85 | 7 30 7 -
TCXS[]15 | 48 | M4x0.7 | 10 | 10 [38.5| 10 5
TCXS[20 | 53 | M6x1.0 |7.75(12.5| 45 |12.5| 9.5 | 6.5
TCXS[25 | 64 | M8x1.0 |85 | 156 | 46 | 15 | 13 9

M5x0.87R4. 5|M3x0.5:R4. 5| M4x0.73R7 | M3x0.5x10L |M3x0.5x10L
M5x0.8R4. 5| M4x0.7;R5 | M5x0.8/R8 |M5x0.8x10L | M4x0.7x5L
M5x0.87%4. 5| M4x0.7;86 | M6x1.0;&810 | M6x1.0x12L | M5x0.8x5L

1/8"%6. 5 |M5x0.8/R7. 5|M8x1.25%12| M6x1.0x14L | M6x1.0x50L

© |0 ||

TCXSOI32 | 76 | M8x1.25 | 9 | 19 | 56 | 19 | 20 [11.5] 10 | 1/8"%6.5 |M5x0.8%%7. 5|M8x1.25:%12|M8x1.25x16L| M8x1.25x8L
TEATERY®
ss z zz

e ¥/ 10]15]20(25[30]a5]40]45[50[60[70]75 80[ 00 100] 10.1530.3540]8070Tgqa0. [40]45[20]25[30]35] 40]a5[50]60]70[75[80[ a0 100
TCXSI10 |65| 70| 75| 80| 85| 90| 95[100105 115 125130] - |- | - | 30| 40 | 50 | -| - |e2|s7]s2|97 [102]tor|rr2[n7[r2zftazfraclrar] - | - | -
TCXSOI15 | 70]75/80|8590|95100]105|10]120/130 135 140|150 160| 25 | 35 | 45 4555 |89 | 94 | 99 |104]109|114|119]124[120]130]14]154]156] 169|179
TCXS[120 |80|85|90| 95 [100[105|110|115[120|130|140|145/150|160[170| 30 | 40 | 60 |104/109|114|119]124/129|134]139|144|154|164[169|174| 184194
TCXS[125 |82|87 92|97 [102]107|112|117[122]132/142|147|152| 162|172 30 | 40 | 60 |106|111|116|121]126|131{136|141|146| 156 |166| 171|176 186 196
TCXS[32 | 92|97 [102]107 112|117 |122[127 132142152157 |162 172182 40 | 50 | 70 [122]127]132]137]142] 147152157 ] 162|172 182187 ]192]202]212

1.142 “§TEEITE




W iE EAF S EL/ 4B
Dual Rod Cylinder/ Double Side Rod Type

TCXSW Series

Common Specification ( £t [E # 4&)

(%]
=
=
<<
=
=)
L
=
a

Bore(4I1Z)(mm) 26 | @10 | @15 | @20 | @25 | @32
Fluid (5 A 3 14) Clean Air(i& % = =)
Action(F1ERF) Double Acting (W zh)
Proof Press.({RIEMTE 71) 1.0Mpa
Max. Press.(R=EHREH) 0.7Mpa
Min. Press. (RAEEMEH) | 0.15Mpa [ 0.1Mpa [ 0.05Mpa
: g Amb.Temp(GHE KRR E) 5~60°C
- Cushion(£&h Rubber Cushion(#if 55L& 4
Stroke (T#2) (mm) : ( *) — E R
— p— - Formation(45#4) WS EL(2fE 4 H )
G STD Stroke (#x 417 #2) | -XB11 () 17#8) (mm) *Lubrication(;‘[ﬂiﬁ') Non-Lube(X%%)
o6 10, 20, 30, 40, 50 - pr— —
210 Stroke Tclerance({Ti2A%5ERE) | Return Stroke (45 [@ 17#8) 0~-5mm
10, 20, 30,40, 50 | 75, 100, 125, 150 ; Slide Bearing/Ball Guide Bearin
Bearin 3 N g/5 9
2 s (8 3 B R /2 5k 5 1 8 )
o ;g fg,oso, 40,50 105 150 175,200 |PiPe Size (EE O ) Re M5x0.8 ‘ 1/8"
@32 ' *Please Use Turbine Oil 1st-Grade ISOVG32,If Necessary.( 40 EZE;F;8, i5H
EFE15HISOVG32)

How To Order (B! SRR 7735

TCXSW M 20 -30 - XB11 - M9B S
I I I I |—I I_I |_\ |—I

Bearing Type Bore Stroke Long Stroke *Auto Switch No. of Auto Switch
TR R [ 712 KITEKS HAETFR AR S
M _[Slide Bearing(&hh%) Please refertothe  Please refertothe  Nil(Z)[STD Stroke (i)  Nil(%) [ None (EREMIT %) Nil(Z) [2 (1)

L |Ball Guide Bearing(3EkSafk) tableFSE{TiER table. BB EITIER  xp11|longSioke(kfi2KS) MOB | Reed Switch(isHIESHiMEFF£) s 1)
*Auto Switch (M TF%) FI4KERRIEES: FTidS-1m(kF) MONP | Contactless Switch(F sttt FF %) n_[n(1)

L-3m Z73 | Reed Switch(# A1 s RiMEIF %)
Z-5m
Max.Allowable Loads Loads of Rod Allowable Kinetic Energy
(RRRIFHE) (¥ i 1 & 8 (Jt 15 B &E)
" Ea TCXSW32
=t
W 7%@ 40 \
— A8 sl TCXSWLI25
90— -o— O 20 - \
TCXSWO32
— 1 Extended Rod ‘ ‘ \
(ERAFEH) 10 [TCXSWL20 e
\ N\
' ' ' ' Stroke(fL#Z)(mm) | 6~32 X\ \\\
4 J— . K ~ TCXSWO15
TCXSWM(Slide Bearing) L 4
I TCXSWL((BaII Guide Bgaring) TCXSW-M +0.03 I \ \
35 = ===t TCXSW-L ;M% 2 \
— I
\ I e }2'32 & TCXSW10 \
—~ --F--- el ] _ 5
e e Joos | FimsEHERE g N
2 25 5 N
k= % 05
g . Z 04 \
= 2 = — =] Housing S 03
g —_ }g20 | - /Plate e
g 1.5 = ‘ 02
e — D
£ U D *ﬁ@’*‘@@#
3 4 1815 ‘ I 0.1
= J U
1
R R I 0.05
05 To10
7los Stroke (&L &)(mm) 6~32 0 50 100 200 300 500 1000
—=go---L-- Jlo
0
0 20 40 60 80 100 TCXSW-M +1° Cylinder speed(mm/s)
Cylinder stroke(mm) TCXSW-L

$TETE 1143




PNEUMATICS

1.144 TECTE

W iE ZE A S EL/A 4T B
Dual Rod Cylinder/ Double Side Rod Type

TCXSW Series

Dimensions (M2 R <F B)(mm)

26
zZ
8 SS 8 .S
2.75 13 13 5.5 16
v 2-@3.4 ‘—-‘
3 ‘f 3 2-M3x0.5x5 12 AWS 14 4-%3;\-(0.5
3 o M7~ AR IEE [ — A 1 g ¢/
R N o 119 {/ —— = o |
: 2o | h-d—— o8 SCER
3 | — iy
A 4M305 ‘ b ® <
4-MoXU. 9, I I *
e[ B 2-M3x0.5x12.5 12 7 2-M2.5x0.45x6
(RN iR E) AN FRET
10 W 4-M3x0.5 Depth4.5
X EAEE
© —_—
B oo f oo pa]]
© L]
225 ¥ 225
4-M5x0.8 Depth4.5
3 EAEE
Model (B! S) S|SS|zz| Zz | W
13 z 13 TCXSWI6-10 | 10 | 66 | 103 | 40 | 46
< 1 1 TCXSWI16-20 | 20 | 76 123 | 50 | 56
= TCXSW6-30 | 30 | 86 | 143 | 60 | 66
E = e TCXSW6-40 | 40 | 96 [163] 70 | 76
TCXSWLI6-50 | 50 [ 106 [ 183 | 80 | 86
1 1 7 RETCXSWI6-10 & TCXSWI6-203X A Hh S 51
RIRIE T %, IR SREEHMEF XER—FB5 .
(Bt BRIRT)
210
zZ
9 SS 9 S
4 20 z 20 8 17
12*
2-M5x0.8x5 ﬁ 22_'563_54;% = 15 4-M4x0.7
AARRBEN || | — . ; ; ||
3 N 1 E
© N bifi - - . N
2 ESAmRE & @ 4 3 E
@ e - - - —— F—1é @k °
@ 4-M3x05£ ; ; — Ad 4
o : f f 12 - 2-M3x0.5x10 TCXSWI10-10
© 2-M4x0.7x14.5 $j* (RARIRET)
(NAgs)
20 z 20
4-M3*0.5 Dep4.5
M EEE
“ N & 6+ 2 ] Model ®E) | s [ss|[zz]z
N s ~ TCXSW10-10 | 10 | 92 [136] 52
30 30 STD | TCXSWII10-20 | 20 102156 62
4-M5x0.8 Dep4.5
ENEER (srefzie)  TCXSWII10-30 | 30 |112|176] 72
TCXSWO10-40 | 40 {122|196| 82
4 20 20
4-M3%0.5 Dep5 M0 7T TCXSWII10-50 | 50 [132]216] 92
— ; ; Long | TCXSWOI10-75 | 75 157|266 117
| 4| | Stroke | TCXSWI10-100 |100[182[316[142
~ HeRTE) | TOXSWI10-125 | 125|207| 366 167
8T g N ¢ - o - TCXSW10-150 |150|232|416|192
/8 ‘ ‘ < *} T RFETCXSWO10-10 R TCXSWO10-20iX FFH S

ETEYREMEFF S5, YIRS A SRE R FF KBR—FB 5
(Bfr IR



W iE EAF S EL/ 4B
Dual Rod Cylinder/ Double Side Rod Type

TCXSW Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions (M2 R <F &)(mm)

215
zZ
ss 9. s
s 25 s 25 10 20
T IR - % el
gi
g | ?{ 5 éj © 38 | |
< | :77777777777@ <
] 2] —  [* C
o 4-M4x0.7 Dep6 ‘ ‘ |27} o] \4-m5x0.8
25 z 4-M4x0.7 Dep5
A AR
I e
T s % Model (B! ) S |ss|zz| z
| 385 | o 5x0.§%2p4.5 TCXSWO15-10 | 10 [105|153| 55
AN E R S?r-gze TCXSWO15-20 | 20 [115|173| 65
5 o) T CXSWII15-30 30 [125]193| 75

4-M4x0.7 Dep6 2-M5x0.8 Dep8

TCXSW[J15-40 | 40 [135/213| 85
TCXSW15-50 | 50 |145|233| 95

o Long | TCXSWI15-75 | 75 170[283]120
8 @ Stroke | TCXSW(I15-100 |100]195|333|145
T "‘)‘(‘BTE) TCXSWI15-125 | 125|220/383]170
; ; TCXSWLI15-150 | 150|245/433]195
«H T BETCXSWO15-10 % TCXSW15-205X B FH S
EIAOREIETTE, YIFRTE A S E ek F 3 — 4
(Bt5 ~ SRR
@20
Y74
1 SS 12 S
2-M8x1.25 6 ~° 12 %0 4214% 0 = iﬁ
AsRREE I 1 A/Zﬂ—ﬂﬁﬁ } || B Mexx2
@ Py :: & [ o (M7~ fa2eD)
& o= —/——- = o
o TP EA § o
2 g8 —%— @ ©  HH B
¢ =i )
° 7d ‘ -t &
g 4-M4x0.7 Dep6 2(—:(;3(;;1%?)5 L@*_ 11_i 4-M5x0.8
30 z 30
8-M4x0.7 Dep6
ps TaxTER
S Y 7 o _
. - 649\<— o e Model (B1-5) S |Ss|z2z| z
Gl " - TCXSWII20-10 | 10 [120[178] 60
N S?LEQ TCXSWLI20-20 | 20 | 130(198| 70
SRR (imisfase) TCXSWI20-30 | 30 | 140|218 80
TCXSWII20-40 | 40 |150]238] 90
I TCXSWLI20-50 | 50 | 160258100
BT Dep?, g e Dep1d B TCXSW20-75 | 75 | 185|308 125
K Py TCXSWI20-100 |100|210|358| 150
. Long | TCXSWLI20-125 | 125| 235408175
3 Stroke | TCXSWI20-150 | 150| 260458 200
° (*;gﬁ’ TCXSWI120-175 | 175/ 285|508 225
S TCXSWI20-200 | 200310558250

*R T ZETCXSWO20-10% TCXSWI20-20iX A fH S,
EIAOREME T, ¥IFRTE AR EE HAMEFF X BRI —ER 5
(B *HBWRIR)

’é‘TEGETE 1.145




W iE ZE A S EL/A 4T B
Dual Rod Cylinder/ Double Side Rod Type

TCXSW Series

PNEUMATICS

Dimensions (7 R <+ E)(mm)

ﬂ25 zZ
SS 1 S
6 30 z 30 [12] 30
-M8x1. . 2-96.9 1 -M6x
i 1] 591 A8 | o e
o o ’ ©
z ( i @f ©
rom <4 ﬁ* = © —
g 4-M5x0.8 dep7, 2-M6x1x18.5 Y Y L1z %T‘Aﬁegﬂ?g%
(31 13))
30 z 30
8-M5x0.8 dep6.5
AR Model (B! 5) S |SS|zz| z
= [ULi e{% ) > O P TCXSWII25-10 | 10 |122|180] 62
g1 e % O STD | TCXSWO25-20 | 20 | 132/200| 72
4-Rc1/8 dep6.5
46 ] Bened :;T (i7iz| TCXSWOI25-30 | 30 | 142220 82
LL,, TCXSW[I25-40 | 40 | 152|240 92
508475 6 w0 ’ w0 TCXSWI25-50 | 50 | 162|260 102
4» 2M8x1.25 dep12 - TCXSWII25-75 | 75 |187|310(127
N / o TCXSWII25-100 | 100|212|360| 152
- (S SN Long | TCXSWII25-125 | 125|237 410|177
S Stroke | TCXSWI25-150 | 150|262 |460 |202
N (4 © pue
g BE H (Jf(gfﬁ) TCXSWLI25-175 | 175|287 |510| 227
N o TCXSWII25-200 |200(312|560 (252
— : : — <R TRETCXSWO25-10KTCXSWI25-20iX FfHS,
FLRVRAME TR O, YIRRTE B SRE B R FF S ER— B85 .
(Btr = BRIR)
332
zZ
14 153 J4_. S
8 30 Z 30 _1_6_
2-M10x1.5X8L - /% 4-M6x1
t (A ARTEE) T 1 Vi b
hd

| ¢

4»@—%
|
TR ]
&
|
|
|
|
|
[+e

[

-

.

]

I

T

il
i .
—e/@—i—@<<lm

m &
P T 4-M5¢0.8 dep8 . f t 8 2-M8x1.25x16
© —_— \2»M8x1.2&23 JL%: (F7SFRIBET)
R FIRET)
A et edTs ° Model #2) | s [ss|zz] z
2 prg e pu TCXSW[I32-10 | 10 |143|213] 83
e ——a——1 STD | TCXSW32-20 | 20 |153|233| 93
" + % 43 oz TCXSW32-30 | 30 | 163|253 103
2t \ s TCXSWI32-40 | 40 173|273 113
TCXSW32-50 | 50 | 183|293 123
M50 8deps 5 30 S — 20 TCXSWII32-75 | 75 | 208343148
(GEsminm,_ TCXSWII32-100 [100|233/393 (173
+ Long | TCXSWII32-125 |125|258| 443|198
Stroke | TCXSWJ32-150 | 150283 493|223
: —— o—-1f HeTD | TexsWEs2-175 [ 175308543 248
e TCXSWII32-200 |200|333 /593 | 273
& * 7T RAETCXSWO25-10K% TCXSWH25-20 X Ffh S
\ . ETEVRAME T3, PIRRTE P SRE AT 25 A — 2
4-M5x0.8DP8 / ! ' (B« BRIRT)

1.146 TEEITE




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

